
	
  

	
  

	
  
	
  

Autoevaluación	
  
	
  

1.	
  Indique	
  cual	
  de	
  los	
  siguientes	
  factores	
  sistémicos	
  influye	
  en	
  la	
  
cicatrización	
  de	
  las	
  heridas.	
  
	
  
A.	
  Estado	
  nutricional	
  
B.	
  Vascularización	
  de	
  la	
  zona	
  tratada.	
  
C.	
  Edad	
  del	
  paciente.	
  
D.	
  Tratamientos	
  médicos	
  
E.	
  Todos	
  los	
  anteriores	
  
	
  
2.	
  Seleccione	
  la	
  respuesta	
  falsa	
  
A.	
  El	
  separador	
  de	
  Langenbeck	
  está	
  recomendado	
  en	
  sectores	
  anteriores.	
  
B.	
  Tras	
  la	
  intervención	
  mantener	
  una	
  gasa	
  comprimida	
  favorece	
  la	
  
hemostasia.	
  
C.	
  Las	
  pinzas	
  de	
  Adson	
  pueden	
  disponer	
  o	
  no	
  de	
  dientes.	
  
D.	
  La	
  cicatrización	
  por	
  primera	
  intención	
  es	
  la	
  idónea	
  
E.	
  La	
  inflamación	
  crónica	
  es	
  una	
  de	
  las	
  complicaciones	
  de	
  la	
  cicatrización	
  
	
  
3.	
  Ordene	
  de	
  principio	
  a	
  fin	
  las	
  fase	
  de	
  la	
  respuesta	
  cicatricial.	
  (ejemplo	
  
ABCD	
  o	
  CDAB):	
  
A.	
  Fase	
  de	
  remodelación	
  
B.	
  Fase	
  inflamatoria.	
  
C.	
  Fase	
  de	
  proliferación	
  
D.	
  Fase	
  de	
  coagulación	
  
	
   Indique	
  la	
  secuencia	
   	
  	
  	
  ____	
  ____	
  ____	
  ____	
  
	
   	
   	
   	
  
4.	
  indique	
  cual	
  de	
  las	
  siguientes	
  no	
  corresponde	
  a	
  ninguna	
  complicación	
  
de	
  la	
  cicatrización.	
  
	
  
A.	
  Dehiscencia	
  de	
  suturas	
  
B.	
  Necrosis	
  
C.	
  Infección	
  
D.	
  Déficit	
  vitamínico	
  
E.	
  Fibrosis	
  
	
   	
  
	
  
	
  
	
  
	
  



	
  

	
  

	
  
	
  
5.	
  	
  Indique	
  cual	
  es	
  la	
  respuesta	
  verdadera	
  
	
  
A.	
  Los	
  mangos	
  de	
  bisturí	
  circunferenciales	
  permiten	
  una	
  mayor	
  precisión	
  
que	
  los	
  planos.	
  
B.	
  En	
  todas	
  las	
  intervenciones	
  quirúrgicas	
  intraorales,	
  la	
  hoja	
  de	
  bisturí	
  
recomendada	
  es	
  la	
  nº15.	
  
C.	
  Las	
  pinzas	
  de	
  disección	
  dentadas	
  fijan	
  los	
  tejidos	
  blandos	
  con	
  mayor	
  
firmeza	
  que	
  las	
  no	
  dentadas.	
  
D.	
  El	
  periostotomo	
  es	
  necesario	
  en	
  las	
  incisiones	
  a	
  espesor	
  parcial.	
  
E.	
  Todas	
  las	
  tijeras	
  quirúrgicas	
  tienen	
  la	
  misma	
  longitud.	
  
	
  
6.	
  Indique	
  cual	
  de	
  los	
  siguientes	
  incisiones	
  	
  se	
  realiza	
  sobre	
  la	
  fibromucosa	
  
palatina	
  
	
  
A.	
  Incisión	
  de	
  Neumann	
  parcial	
  
B.	
  incisón	
  de	
  Partsch	
  
C.	
  Incisión	
  oval	
  
D.	
  Incisión	
  en	
  doble	
  Y	
  
E.	
  Zetaplastia	
  
	
  
7.	
  Indique	
  cual	
  es	
  la	
  respuesta	
  correcta	
  
	
  
A.	
  Las	
  incisiones	
  a	
  espesor	
  parcial	
  se	
  utilizan	
  en	
  la	
  extracción	
  de	
  terceros	
  
molares	
  incluidos	
  
B.	
  Los	
  colgajos	
  de	
  espesor	
  parcial	
  no	
  pueden	
  ser	
  desplazados.	
  
C.	
  El	
  colgajo	
  de	
  espesor	
  total	
  se	
  realiza	
  sin	
  seccionar	
  el	
  periostio.	
  
D.	
  Las	
  incisiones	
  a	
  espesor	
  parcial	
  son	
  las	
  necesarias	
  en	
  las	
  técnicas	
  
bilaminares	
  con	
  injerto	
  conectivo	
  
E.	
  En	
  exéresis	
  de	
  torus	
  palatino	
  los	
  3	
  tipos	
  de	
  incisiones	
  son	
  válidos.	
  
	
  
8.	
  Señale	
  cual	
  de	
  las	
  siguientes	
  afirmaciones	
  es	
  falsa	
  
	
  
A.	
  La	
  encía	
  insertada	
  se	
  localiza	
  entre	
  la	
  mucosa	
  alveolar	
  y	
  encía	
  marginal	
  
libre.	
  
B.	
  El	
  vértice	
  del	
  colgajo	
  siempre	
  debe	
  ser	
  mas	
  amplia	
  que	
  la	
  base	
  del	
  
mismo.	
  
C.	
  No	
  se	
  debe	
  seccionar	
  ni	
  la	
  papila	
  ni	
  el	
  margen	
  gingival	
  por	
  la	
  mitad.	
  
D.	
  	
  Realizar	
  las	
  incisiones	
  en	
  un	
  solo	
  trazo	
  no	
  es	
  necesario	
  en	
  tejidos	
  sanos.	
  
E.	
  La	
  sutura	
  en	
  la	
  encía	
  queratinizada	
  y	
  en	
  la	
  mucosa	
  alveolar	
  se	
  comporta	
  
del	
  mismo	
  modo.	
  



	
  

	
  

	
  
	
  
	
  
	
  
9.	
  Indique	
  la	
  respuesta	
  falsa:	
  
	
  
A.	
  La	
  incisión	
  de	
  Neumann	
  completa	
  tiene	
  2	
  incisiones	
  liberadoras	
  
verticales	
  
B.	
  La	
  incisión	
  de	
  Partsch	
  está	
  indicada	
  	
  en	
  la	
  extirpación	
  de	
  pequeños	
  
quistes.	
  
C.	
  La	
  incision	
  parcial	
  de	
  Neumann	
  solo	
  puede	
  abarcar	
  un	
  diente	
  a	
  distal	
  de	
  
la	
  lesión.	
  
D.	
  La	
  incisión	
  lineal	
  se	
  utiliza	
  en	
  el	
  drenaje	
  de	
  abscesos.	
  
E.	
  La	
  incisión	
  festoneada	
  está	
  indicada	
  en	
  la	
  fenestración	
  de	
  caninos	
  
incluidos	
  con	
  acceso	
  palatino.	
  
	
  
10.	
  En	
  la	
  incisión	
  en	
  doble	
  Y	
  el	
  ángulo	
  que	
  forman	
  las	
  dos	
  incisiones	
  de	
  los	
  
vértices	
  	
  respecto	
  a	
  la	
  incisión	
  mayor	
  es	
  de	
  :	
  
	
  
A.	
  	
  80º	
  
B.	
  100º	
  
C.	
  120ª	
  
D.	
  140º	
  
E.	
  150º	
  
	
  
11.	
  En	
  la	
  exodoncia	
  de	
  tercero	
  molares	
  inferiores	
  incluidos	
  que	
  precisen	
  
amplias	
  ostectomías,	
  la	
  incisión	
  recomendada	
  es:	
  
	
  
A.	
  Incisión	
  Oval	
  
B.	
  Incisión	
  festoneada	
  lineal	
  
C.	
  Incisión	
  supracrestal	
  
D.	
  Incisión	
  en	
  bayoneta	
  
E.	
  Incisión	
  de	
  Neumann	
  completa	
  
	
  
12.	
  Los	
  procesos	
  de	
  reabsorción	
  de	
  las	
  suturas	
  :	
  
A.	
  Son	
  por	
  hidrólisis	
  en	
  el	
  caso	
  de	
  las	
  suturas	
  sintéticas	
  
B.	
  La	
  degradación	
  enzimática	
  ocurre	
  en	
  suturas	
  de	
  origen	
  natural	
  
C.	
  El	
  periodo	
  de	
  reabsorción	
  varía	
  dependiendo	
  del	
  material	
  
D.	
  Pueden	
  verse	
  alterados	
  por	
  procesos	
  febriles.	
  
E.	
  Todas	
  las	
  anteriores	
  son	
  ciertas	
  
	
  
	
  



	
  

	
  

	
  
13.	
  La	
  indicación	
  en	
  una	
  	
  sutura	
  de	
  "	
  TB15"	
  indica	
  
	
  
A.	
  La	
  reabsorción	
  de	
  la	
  sutura	
  
B.	
  La	
  curvatura	
  de	
  la	
  guja	
  
C.	
  EL	
  calibre	
  del	
  hilo	
  en	
  el	
  sistema	
  métrico	
  (EP)	
  
D.	
  Longitud	
  de	
  la	
  sutura	
  en	
  pulgadas	
  
E.	
  La	
  sección	
  de	
  la	
  aguja	
  
	
  
14.	
  Indique	
  la	
  respuesta	
  falsa	
  entro	
  de	
  las	
  recomendaciones	
  
postoperatorias	
  en	
  las	
  primeras	
  horas.	
  
	
  
A.	
  No	
  debe	
  enjuagarse	
  
B.	
  Las	
  bebidas	
  que	
  ingiera	
  deben	
  ser	
  calientes	
  
C.	
  No	
  escupir	
  
D.	
  No	
  fumar	
  
E.	
  Realizar	
  ejercicios	
  físicos	
  intensos	
  
	
  
15.	
  Indique	
  cual	
  es	
  la	
  afirmación	
  falsa	
  sobre	
  la	
  Zetaplastia	
  
	
  
A.	
  Es	
  la	
  incisión	
  recomendada	
  para	
  la	
  exéresis	
  de	
  frenillos	
  atróficos.	
  
B.	
  La	
  incisión	
  vertical	
  forma	
  un	
  ángulo	
  de	
  45-­‐60º	
  con	
  cada	
  una	
  de	
  las	
  
oblicuas	
  
C.	
  A	
  mayor	
  longitud	
  de	
  las	
  incisiones	
  oblicuas	
  mayor	
  dificultad	
  de	
  cierre	
  de	
  
la	
  herida	
  
D.	
  Tras	
  la	
  incisión,	
  los	
  dos	
  triángulos	
  de	
  la	
  herida	
  deben	
  ser	
  desplazados.	
  
E.	
  Existen	
  otras	
  incisiones	
  para	
  la	
  eliminación	
  de	
  frenillos.	
  
	
  
16.	
  Las	
  agujas	
  de	
  sutura	
  no	
  se	
  diferencian	
  por	
  
A.	
  Su	
  curvatura	
  
B.	
  Su	
  memoria	
  elástica	
  
C.	
  Su	
  longitud	
  
D.	
  su	
  sección	
  
E.	
  Todas	
  las	
  anteriores	
  son	
  ciertas	
  
	
  
17.	
  Indique	
  la	
  respuesta	
  falsa.	
  
A.	
  Las	
  suturas	
  de	
  ácido	
  poliláctico	
  y	
  poliglicólico	
  son	
  reabsorbibles	
  
B.	
  Las	
  suturas	
  pueden	
  clasificar	
  en	
  monofilamentos,	
  bifilamentos	
  y	
  
multifilamentos.	
  
C.	
  La	
  seda	
  y	
  el	
  lino	
  son	
  naturales	
  y	
  de	
  origen	
  animal.	
  
D.	
  Existen	
  suturas	
  de	
  origen	
  mineral	
  
E.	
  Las	
  suturas	
  multilfilamentosas	
  tienen	
  mayor	
  capilaridad	
  



	
  

	
  

	
  
	
  
18.	
  Un	
  técnica	
  de	
  sutura	
  para	
  mantener	
  material	
  hemostático	
  en	
  un	
  
alveolo	
  es:	
  
	
  
A.	
  Colchonero	
  vertical	
  
B.	
  Sutura	
  continua	
  
C.	
  Sutura	
  suspensoria	
  
D.	
  Sutura	
  continua	
  festoneada	
  
E.	
  Sutura	
  en	
  X	
  
	
  
19.	
  Cual	
  de	
  las	
  siguientes	
  agujas	
  curvas	
  no	
  se	
  utiliza	
  en	
  la	
  sutura	
  intraoral?	
  
A.	
  	
  3/8	
  
B.	
  	
  1/2	
  
C.	
  	
  6/8	
  
D.	
  1/4	
  
E.	
  	
  5/8	
  
	
  
20.	
  Que	
  propiedades	
  no	
  diferencian	
  a	
  las	
  suturas?	
  
	
  
A.	
  Diámetro	
  
B.	
  Elasticidad	
  
C.	
  Grado	
  de	
  oxidación	
  
D.	
  Capacidad	
  de	
  reabsorción	
  
E.	
  Capilaridad	
  



	
  

	
  

	
  
	
  
	
  
	
  
Respuestas	
  
	
  
1.	
  A	
  
2.	
  A	
  
3.DBCA	
  
4.	
  D	
  
5.	
  C	
  
6.	
  D	
  
7.	
  D	
  
8.	
  B	
  
9.	
  C	
  
10.C	
  
11.D	
  
12.	
  E	
  
13.	
  D	
  
14.	
  B	
  
15.	
  C	
  
16.	
  B	
  
17.B	
  
18.	
  E	
  
19.	
  C	
  
20.	
  C	
  


